
 

SDI Truss Boom 
Model TTDB20 

Spraying Devices, Inc. 559-734-5555, www.sprayingdevices.com 

PI01/07/20 



SDI Truss Boom Model TTDB20 

Spraying Devices Inc. P O Box 3107, Visalia, CA. 93278  US . www.sprayingdevices.com 

 

 

 

           Item              Part 
       Number           Number                  Description                       Qty.

  

 

1 2BR1323C Golf base 6 m 1 

2 2BR1307C Swing hinge 6m golf 2 

3 2BR1360A Golf tip 6 m right 1 

4 2BR1324C Golf tip 6 m left 1 

5 2BR1333B Fixed support 2 

6 2BR1384 Central connection 1 

7 2BR1361 Log tube 2 

8 2BR1373 Mobile rest support 2 

9 2BR0031A Spring support washer Di.16xDe.50 4 

11 2BR0723 Screw TE M16x240 galvanized UNI 5737 thread length 135 mm 2 

12 SPI0010 Elastic plug D.12x100 (Heavy series) UNI 6873 DIN 1481 ISO 8752 2 

13 MOL0032A Compression Spring De = 50 D.filo 8 L = 120 p.so 19.5 2 

14 2BR1295B Mobile registry 2 

15 MOL0003 Cup spring 31.5x16.3x1.75 Lo = 2.45 40 

16 RON0010 Dn 8 washer galvanized UNI 6592-R 40 20 

17 VIT0050 Screw TE M14x 50 galvanized UNI 5739 2 

18 DAD0005 Nut M14 hex self-locking normal galvanized DIN 982-UNI 7473 CL.8 2 

19 VIT0035 Screw TE M16x110 galvanized UNI 5737 2 

20 DAD0007 M16 self-locking galvanized nut 10 

21 2BR0862 Washer in polizene D.40xd.16,5x6 8 

22 SIB0013 Cylindrical foot d.40x40 M10 2 

23 RON0003 Washer Dn 16 galvanized UNI 6592-R 40 12 

24 VIT0063 Screw TE M 8x 80 galvanized UNI 5737 2 

25 DAD0014 M8 self-locking galvanized nut 12 

26 SIB0005 Cylindrical foot d.20x20 M6 2 

27 VIT0033 Screw TE M16x90 galvanized UNI 5737 2 

28 VIT0008 Screw TE M16x 80 galvanized UNI 5737 2 

29 VIT0042 Screw TE M 8x 25 galvanized UNI 5737 4 

30 2BR1336 Spacer 4 

31 2BR1150 Washer in polizene D.40xd.16,5x2,5 4 

32 3CM0347 Grooved knob with threaded pin D.40 M10x50 (105240105000 THE- 4 

33 VIT0037 Screw TE M 8x 55 galvanized UNI 5737 2 

34 RON0001 Dn 10 galvanized washer UNI 6592-R 40 8 

35 DAD0001 M10 self-locking galvanized nut 4 

36 VIT0054 Screw TE M10x 30 galvanized UNI 5737 4 

37 DAD0040 Nut M16 hexagonal low UNI5589 galvanized 2 

38 CAV0005 U-bolt 30x30 M8 - 31021030 ZARRI Golf boom "2" 6 m (KYB) 2 


